‘

§

Code No. 1531

| C;LASS=1“h (Eleventh) Series : 11-April/2021

R:o!l No. r H “_

i

T
MATHEMATICS
[ R wd ofdoh = |
[ Hindi and English Medium ]
(Only for Fresh/School Candidates)

77 24 §2] _ [ g% : 80

Time allowed : 2% hours ] : [ Maximum Marks : 80

FT AT T & 7 F gRT §T 16 77 797 13 8

Please make sure that the printed pages in this question paper are 16 in number
and it contains 13 guestions.

g F g I B9 T FE T @ O JAYRaH 3 JI-g 97 [

The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.

FEA T T TG T BT @ G, JT A AHE S i

Before beginning to answer a question, its Serial Number must be written.
Fo-gRaw @ @i & @it g/ 77 7 83!

Don’t leave blank page/pages in your answer-book.

mgﬁw%aﬁﬁwﬁs‘mﬁﬁaﬁ@#ﬁf ¥ TEIFAR & k@ ST foar Sav T
et t

Except answer-book, no extra sheet will be given. Write to the point and do not

‘ strike the written answer.

qOErEl Ty U To FHT-TH IT oY fud

Candidates must write their Roll Number on the question paper.

pyar get 7 3T 37 @ g4 7% ghkaT a7 & B mee g7 7 &) & qhu & overd &
gy F g A qrar @ T@l A

Before answering the question, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

1531

P.T.0.



(2) . 153
a3
fi) =ef ge7 AT 81 o R
f) FERAETB RTE A Farae o, T @ e -
g 9 oW G 3 T e 1 7 g (1-40) WW%W@'W}@
59T 1 o7 F B
& T 5 aT ¥ T gEr2 @ 7 a% o 8 T & J9% T 2 o1 a8
T T T ET AT A8 § 11 a% g A FT E JIE T4 oH @
&1
B T 37 G § g97 & 12 0G 13 397 3 597 & Fh9F T 6 HFH F &

&) & TS g W 7 ke fee Rar wr & e d9 o Reey g &

General Instructions :
fii All questions are compulsory.
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il This question paper consists of 13 questions which are divided into four
Sections : ‘A", ‘B, 'C'and 'D" :

(il

Section ‘A’ :

Section B’ :

Bection

Bectlon

In buth the Weslions of Baotion
ultetnpl onfy Gne

'C': Thig Section contain SJour questions from Question Nos.

D' This Sectlon contein only

Question No. 1 of this Section has SJorty (1-40) Objective Type
questions. Each question carries 1 mark.

This Section contain six questions from Question Nos. 2 to 7.
Each question carries 2 marks.

8 fo
11. Each question carries 4 marks,

two questions, Question Nos. 12 &
13, fiach question carros 6 marks.

‘D' fnternad choives are given. You have to

Wlarie e,
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SECTION-A
Gqug - 3
IR TGS 597 % FT § -

-Answer the following objective type questions :
1 (1) A={x:xTH 30 G 8), T G A TF ..o 9= 2 1
(aftfra, @l oFw)
A={x: xis a prime number}, Set A is .............. set. (Finite, Null, Infinite)
(2) AR A=1{a, e i o u)d A=A A D LA H GAE .oovennnn. [ 1

{5, 20, 32, 120}
A ={a, e, i, 0, u}. Number of subsets of set Ais .ovvvinnnnns . {5, 20, 32, 120}

71318 18
12°12° 47 12

. QM 7 T,
The value of 2 sin? re cos? 3 +tan? e isequal to ............... .

fzﬁg_g
127127 47 12

(4) g A = {apb, ¢}, B={a, b, ¢, d, e},?:ﬂAn B=.........
(A, B, A¥ B)
If A={a, b, c}, B={a, b, c d el,thenAnB=....... .

(A, B, neither A nor B)

1531 P.T.0.
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@mﬁzom%ﬁﬂﬁmmﬁﬁﬁq@ﬂmmammmqm
Rrgg TR ol ARE Ter ¥ S R R ger €, o wen @

In a school there are 20 teachers who teach Mathematics or Physics, Of
these 12 teach Maths and 4 teach Maths and Physics. The number of
teacher who teach Physics are .............. .

®A={0,1,234,56,7) T T RA AR FANTE R={x,y) : y=
x+5 x,ycA,q T AT TEE (e, || !

Let A=1{0, 1, 2, 3,4, 5,6, 7. Arelation Ris defined from A to A where
R={x y :y=x+35,x ye A Then the relation R has the range

R 1

qﬁ40cmmmm%qaﬁwaﬂm20cm%lagamzﬁm% ......... I
In a circle of diameter 40 cm, the length of a chord is 20 cm. The length
of minor arc of chord is ............. cm.
uﬁtanx=~%,xf3‘chui§q’fsrﬁ%,€fsinxiﬁrm=r%: 1
5 S
= B) -—
@& 3 B) -713
12 _12
Cc) —= (D)
€ 73 13

If tanx = _S 4 lies in 2nd quadrant, then the value of sin xis :
12°

5

S B) -7%

(A) 3 13
12

(C) l.% : Dy -3

13 13
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. 3
9) DT tanx=-£,ﬁf cos 2x H AM © °

4
A — 8
5 ® 2
c 7
© (D) T @ HE T
If tanx =%, then the value of cos 2x1s :
4 8
(A) . B) 3
(C) T (D) None of these
25
(10) sin3x +sindx o S WA Y
cos 3x +CcOsSOX 16
(A) B ©
© 1 (D) ¥ A & T

i inSx L
sin3x +SMOE g x=— 18°

The value of
€O Cos3x +cos5x 16

&) o B) O
)C} 1 (D) None of these

1531
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(6)
(11) cos 75°H A ¢ :

V3 +1 B v3 -1
@ = 7 (B) of2
(©) ‘52“ (D) T q = A&
The value of cos 75° is :

J3+1 JE -1
(A) 53 (B) Y5
(C) J§2+1 (D) None of these

(12)

(13) A 4x+ i(3x - y) = 3 - 6i, A FAM: x N y F 77 &

cos[-?+x)—cos(%—x] H AN AT ©
(A) —+/2 sin x (B) /2 sin x
(C) cos 2x (D) T q FE T&
(371 J [Sn J )
COS| —+ x |—cos| — ~ x | is equal to :
4 4
(A) -2 sin x (B) 2 sin x

(C) cos2x (D) None of these

If4x+i38x-y) =3 -~ 61, then the value of x and Y are
respectively.

153;
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(14) T32 -2 22(1 -, x5 7 P SR AL, B 2 - 1

A (e, = 4) B) (o, 4]

€) [4, ) (D) [-4, «)

If 3(2 -~ x) 2 2(1 - x), then the value of x lies in the interval :

B (e =4) B) (~, 4]
@ e D) [-4,)
| 1 1 x
(15) x &1 79 P fo Ste e LAY o, | 1
The value of x for which l+ 1 - X IS teviirienn .
6 71 8
’
{f qﬁﬁu‘éﬁjﬂﬂﬂ'{%@’r(&maﬂnﬁfqﬁ3(2)“'1,€rmma‘quqﬁ% ........... |1
3
If nth term of a G.P. is 3(2)"‘_1 , then its common ratio is .............. .
%> 1
(17) 5 9% 729 % A= O AT & coveevenenenns
1 :
The geometric mean between 5— and 72918 ............ .
(18) By T (2+ 3i)2 B AW A B
)
Find the modulus of complex number (2 + 3i)°.
(lglqﬁn05=nc7,anﬂqﬁ% .............. | 1

If "Cg = "C;, then the value of n - S .

.

-\
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(1)

(22)

(23)

(24)

(C) A>G

(8) 1531

Sallt 253 AT 3 TARIC T & BT Loovvviiinniny sonvnneniinny e ol
Three arithmetic means between 5 and 285 are o e,
.............. respectively.

Hﬁ3—4i$7‘g°ﬂm§lﬁ1@q.\‘+iy%,ﬁ],\’Gﬂ’(yfﬁ‘?ﬂﬁ... ......... y seererviies N

If multiplicative inverse of 3 - 4iis x + iy, then the values ol x and y

ATC civirieiaiininy teaerniasnnans .
Th STH (Hexagon) & ol @t @@ & ... I |
The number of diagonals in an hexagon is ... .
R a, b, cwE QA P F ¥, N P F D w@ @ S
(A) b2 =ac @) b-31E

2
(C) b-a=c-b D) a-b=b-c

If a, b, care in A. P., which of the following is not truc ?

(&) b%=ac (B) b=“£c

(C) b-a=c-b M) a-b=b-c

IR a X bA B o7 el &, @ P ABT-W R ? 1
A) A=G (B) A<G

€ A>G (D) A=2G

If a and b are two distinct positive numbers, then which of the following is
true?

A) A=G (B) A<G

(D) A=2G
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(25) ﬂﬁ@?@ﬁﬁtl,z]aﬁus,a%w%ﬁmm%?

2
w3 ® >

= 3
©) 3 (D) - 2

!f a straight line passes through the points (1, 2) and (3. 5) then its slope
1S5 .

2 3
A3 B) 3

(26) Wawd x2 = -8y P TN & FRwW® &
(A) (2,0 (B) (0, 2)
€y (-2,0) (D) (0,-2)

-k

The coordinates of the focus of the parabola x? =-8y is:
(A) (2,0 B) (0, 2)
€ (2,0) (D). (0,-2)
(27) 9< x? +y?-8x+12y-12=0 3 3= & FEu® 70 Fed
| Find the coordinates of the centre of the circle x* = y? -8x+12y-12=0.
(28) ga 4x2 +y? =400 Sidforer 1 TEE © -
(A) 10 (B) 20
(C) 40 (D) 400
The lehgth of major axis of the ellipse 4x ~:-y2 =400 1is:
(A) 10 (B) 20

1534
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29) R (2, 3) 3 T TR AR A - A 450 97 AT 7 aeh e A T ¥ 1

s .
L

(A) x-y+1=0 B) x+y-5=0
C) x+y-1=0 (D) & & ®§ &l

The equation of line passing through (2, 3) and making an angle 45° with

positive x-axis is :

(A) x-y+1=0 B) x+y-5=0
€) x+y-1=0 (D) None of these
(30) @M 4x+ 3y =12 -3 B B Bg W AR &, W& .oovvvennnns | 1

The line 4x + 3y = 12 meets x-axis at the point ............. .
(31) T5 (1, 1) @ 5x+ 12y + 9 =0 W 3 T TG H TR & .oooeeveennnnn [ 1

The length of perpendicular from (1, 1) to the line Sx + 12y + 9 = 0
is ..

(32) ddga 9x? +y? =225 I Iobwal T P

Find the eccentricity of the ellipse 9x2 + y2 = 225.

(33) lim BBX_ . T x IR W A Yy 1

x>0 X

(34) 1

-------------
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1 53

(35)

(36)

{37)

(38)

T O
X (3—6xg) qﬂx% -{-"?‘Ta,{ .

1 1531
T Rt ey

Find derivative of x(3 6Hx”)
2 w.rt. x
3 cot x+ 5 cosce x g1 x 3 iy st ¥

2
(A) 3 coscc“x ~ 5 cosee x ol x

(B) -3 CDSCC?’X - 5 cosce x cot x

(C) -3 cosec?x + 5 cosce x col x

(D) 3 cosec?x + 5 cosce x ot x

The derivative of 3 cot x+ Scoscc x  w. r. b xis:
(A) 3 cosech ~ 5 coscec xcot X

By -3 cosec 2x - 5 coscc x coL x

cy -3 cosec 2x + 5 cosce x cot X

(D) 3 cosec 2, + 5 cosec xcotx

19 @ "fEE® (Median) aw e faaeH

9 5, 3, 12, 10, 18 % 7 |
S e | |

h deviation of 9 5 3, 12, 1o, 18, 4, 7, 19 about Median
The mean , .

IS cvvevmnasoseners . aﬁ % : |
uﬁAeﬁTsamﬁﬁ,é‘rfmﬁﬂm-maﬂ .

(B) PAN B s AA)

(A) P(AmBHP(AuB]
(D) AB sPAU B

©) AAsPAND
P.T.O.
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If A and Bare any two events, then which of the following is not truc ?

(a) PAN B s AAV B (B) PAn B) <PA)
(C) PASPANB (D) PB) < PAv B)

(39) & A X B A gean § o P(A]:%, P[B]z{% AR P(AmB]-_»g, & |

P(Au B) A @i 1

If A and B are two events such that P[AJ:% ) PIB]:I_% and
%, then find P(Au B).
(40)uﬁ%m%aﬁaﬁmﬁm%ﬁéﬁwm%‘ﬂaﬁ’aﬂmﬁ: 1

P(AnB) =

2
A) O B) 13
9 -
© = o =
If -i'?-l- is the probability of an event then the probability of the event
"not A" is :
2
(A) O ® 137
© = o) =
SECTION - B
s -§
2. fr= AR 2

sin x + sin2x +sin 3x
TS T =tan2x
CcOS X + C0s 2x + COS 3x

1531
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Prove that :
sin x + sin 2x + sin 3x — tan?
COS X +C082x + cos 3x X
197
3. tanta]iﬁrrrﬁamaﬁﬁm ,
Find the value of ta.n(lgn]
4 . 1+2i s o
;,ﬂﬁxﬂy: -, A RE B x2y? =11 . 2
2+1
If x+iy=ﬁ,provcthat x2+y2=
2+1
5. TR & (G.P) 2, 242, 4, ... T P G 128 & ? 2
Which term of the G. P. 2, 22, 4, ...... is 128 ?
6. I@WIT x—2y+5=03R x+3y-5=0% T F BT M M 2

Find the angle between the lines x -2y + 5=0and x+3y-5=0.

T W fla)m et @A) T AR 2

1+cosx’

, find f [x]

1t Flx)= 1 +COS X

1531
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SECTION-C
gug-qg
8. R @R
cot4x(sinSx +sin3x) I
col x(sinSx —sin3x)
Prove that :

cot4x(sinSx +sin3x) .

cot x(sin 5x - sin 3x)

9. 9k y= 2x+3 & W g i
/ 4x2+5x+6 dx

2x+3 ' find E_li
4x% +5x+6 dx

Hy=

10. Prfifad Siwet & 9 REed (S.D.) S H

1531

X 3 - g - 13 18 23 28

f 7 10 15 10 6 &
Find Standard Deviation of the following :

x 3 8 13 18 23 =

f 7 10 15 10 ©

1531
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mﬁﬁsmgs%%,aﬁaﬂ%é’rﬁfﬁwéﬁaﬁmwmﬁmr

4

An .
entrance exam is based on two papers A and B. The probability of passing

one paper A by a randomly selected student is 80% and passing paper B is

70%. The passing at least A or Bis 95%. Find the probability that the student
passes both the papers.

SECTION-D

H g -7

aﬁ%@gﬁﬂté@%qﬁfﬁqqﬁﬂwgaﬁmwla,m& P. &l
q1d 9 AR F dH 97§ Hiferg 6

.4 . .
The sum of first three terms of a G. P. is —1—59— and their product is 1, then find

the common ratio and the terms of G. P.

HHqr

OR

R @, b, ¢, d PR G G. P F & o R @ik & @"+b"), P+,
(" +d™) ¥ G. P. (otrre &) & 8

If a, b, ¢, d are in G. P., then prove that
in G. P.

Fg

Find the foot of the perpendicular

(@™ +b™), (b +c"), (™ +d") are also

(1 2)a%@x~3y+4=owgﬁﬁm%mﬁ§%ﬁéaﬁaﬁml 6

from (1, 2) to the line x- 3y + 4 =0.

P.T.O.
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Sl S
OR
mmmmmﬁmsﬂﬁ(o,:ls)qaﬁrmﬁx(o,isw{én

Find the equation of the ellipse whose vertices are (0, +13) and foci (0, £5)-

1531



